EARAZROREIERT — 2 N—XBISY —F 2021568 27H (H) 3MEIBR##4H

mﬁi%Sﬁi 172X kEE ‘ (xfg] £ ‘ [REmshE] — | & (B) 14000 B
[A&4)] 1 7% :7,600,000 8 23 :3,000,000 " ~ 33 :1,900,000 3 43 :1,100,000 @ 5 & :760,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
FlaEX : - EREE (EX)
117110 2414 Tt [B] 4 3 ?2_0 1.(2_4).2 2-2 36.9 | 96.0 5 lzg;) e
L:NZ—k1—-X B:IUEZKCFH EHRKS
. ft 3 | MAKKE 1:24.7 9-6 36.6| 91.5 | 4 468 |FER (BER)

EH g|ER/ VA1 -2 A49.0 2 1/2) (-10) | TEIABAR ()
L:NZ—ka1—-X B:7A47L/330 i cie )
= 4 B4 | ESEE 1:25.0 9-9 36.8| 88.7 | 6 446 | KIREBZ (EX)

3|57 7FIT—4 55.0 (1 3/4) (42) | ZIAZL—ZFK—R (#)
R:7V14F€T> BYY—-FT1TF ppaisa% e

. 4 5 | BERIERX 1:25.3 1-1 38.1]85.6 | 2 494 | BRE (ER)

] 5| IV—T > 55.0 ® © | P

R:Z2Gr T hA =7 —K—FK B:H>&2KLX TS
N <~ BRER 7 :25. - . . EiEs (EX)

5056 @ALLaIF Iy 4 5 A52.0ﬁ 1(725@3 11-12 36.7| 8.9 | 7 32) m%&ﬂﬁ

R:gLh—y B:AUHO-X KBS
Y s 3 | EHPE 1:25.4 6-6 37.4| 84.9 | 10 | 490 |FEEEHR (RX)

EH 3| ZARXRI YD 52.0 (1/2) (o) | A) KT 7—L4
RiAZ—kE21—X B:ZX/—H3Iy b HEEH EVRU—FK—ZFLF
= . B4 | EHEX 1:25.7 13-12 | 36.9] 82.2 | 3 496 | A+EER (BR)

718[12| 7T TLIA—> 55.0 (1 3/4) (+g) | TEIER
R:ANTz—J) B:v14—-rAT bOA El=X njibiec)
e+ s 3 | AEXFM 1:25.7 3-3 38.3| 82.1 | 1 474 | ERET (RR)

s N 4 449.0 (\F) © |k
R:¥XF BTIRAANIT = e

= : . B4 | BERS 1:25.8 3-3 38.3| 8.2 8 46 | =IERZ (ER)

9(8[13 O =TV T~ 5.0 (1/2) 0 |F1TLAR LT ama
RW=—5—=9 7 B:F4A-)b J#7 7 — L

= . ZEAL 126. - . . HEEx (EH)

10 glenviT—nvrra i 5 ;-'3_0 1(226)2 5-5 38.4| 77.8| 9 (4_880) mEss
XD THANAN BHYIRT -4 X %Y K

. . . f 5 | ALK 1:26.4 1-11 38.0| 76.2 | 1 420 | HEEAFE (FER)

1 2 By 717'3'7-'{ R 55.0 (11/2) (-4) B EF

Libh—trkRvLARY B:OTCIXT LY ats B
Iz 4 3 | HHEBE 1:27.7 6-6 39.7| 66.4 | 12 | 424 |HHEL (BR)

1211 5H3ZX %51.0 ®) g | AR

LNZ—kba21—-X B:FvTLy b eZHhTT7—L
. L 3 ft 5 | WHEE 1:27.8 6-9 39.8| 65.7 | 13 | 454 |=HER (RR)

13[7|11| 7V ETLIA 5.0 ) | A
LG4 7 hT—EY B:YLRITyTa TADAS

@ 71 L

) 49.2-37.0
NaO24 4L | 12.1-11.1-11.8-12.2-12.2-12.1-12.7
@ 1—F—@&BIEf
13—7-
23—7F—
G=57= (x5,10) (4,13)8(1,3,11) (9,7) (2,6)12
43—7— (¥5,10) (4,13)8(1,9,3) (7,11)2(12,6)
[ RN
B OB 10 800H 714K 9-10 1,020M e & 6-7 1,820 3ER 7-9-10 8,860
8 B 10 280 7-10 1,170H B & 9-10 2,370 3B 10-9-7 38,970
9 270H 7-9 1,300 B H 10-9 4,990
7 420M

ARICOVWTRDTEEERROODE. TR LIV,




